Stoichiometry – Calculations with Chemical Reactions

· What do the coefficients in a chemical reaction mean?

2Na + Cl2 (  2 NaCl








So:  Coefficients can represent moles or molecules – a ratio of particles.  They CANNOT represent ___________ or ________________or__________________.

How is this useful?

· We can predict the amount of  _____________ that can be formed by a reaction

· We can judge how much of a ______________ is needed

Example1:

How many moles of water will be produced by the complete reaction of 12.0 moles of hydrogen?




Example 2: 

How many moles of silver nitrate are required to produce 0.031moles of silver by reaction with copper?



Example 3:

What mass of sodium chloride can be produced by reaction of 0.10 moles of chlorine?




Example 4:

What mass of nitrogen is needed to produce 25.0g of ammonia in the following reaction:

N2 + 
H2 ( 
NH3

Example 5:

What mass of carbon dioxide gas will be produced by the combustion of 33g of ethane? (C2H6)






